M6 FIXINGS
DOME NUT NYLON 77
SPRING WASHER
HALF NUT
PTFE WASHER

£
©ao>o
Y LARGE FLANGE WASHER

GSW 06

M6 fixings

@@@@@@@ o

‘ GSW-11 ‘/777 @

‘ GSW-12 upper

Méx3' C/S

GSW 14

A

‘ GSW-13 lower ‘

[

H Base Board

PTFE

GSW-22

Of

GSW-23 /
GSW-18

M5x12

GSW-09

=
GSW-27 Rubber Feet

g - P

M5x6

GSW-15

T~

J
1 K

Q SPRING

HOUSING

M6
W M5x15 C/SUNK

%@

M6 Nylock

GSW 06

GSW-22

,,,@,,,

GSW-14
Element 500
watt 240vac

,,,@,,

D

M4x10 —
«—cf
PLO5
—
o) M5X16
u~. @ ——3
3
B M3X20 -
%} 8w
[©] 3T
O @ — 2 3
i
GSw 29

Studding all bright zinc plated.

Metric fasteners all bright zinc
plated.

Goldseal Plus Parts Assembly

© WADER Labelling Systems Limited

Engineering Department

Roy Goodier

SIZE Date DWG NO REV
Mimp [ 03/08/2009 Goldseal Plus Assembly 2

SCALE _ NTS [ InHouse [SHEET 10F 1




